Problem 1 (20 points)
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The number of non- leading zeros 10 10021 is 2.
The number of non-leading zeros in 204003 is 3.
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Problem 5 (20 points)

Find all the 2 input gates which form un1v
You can use constants 0 and 1.
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Problem 4 (20 points)
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a) Use only the “E” gate defined above to implement Boolean function F. You can use

0 and 1.

b) Implement the Boolean function F us-m,gunl:; multiplexers.
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Problem 3 (20 points)

Eﬁ*‘?mhid s the number of prime implicants of the K-map, and N denotes the
o

essential prime implicants of the K-map. Draw a 4x4 K-map that has the largest value
NN among all the 4<4 K-maps. For example, n the folowing 44 K-map, M=3, N=2,
=M= -1 »
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Problem 2 (20 points)
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